18. Full formof DVD s

(A) Digital Versatile Disc
(B) Digital Video Disc

(C) Digital Video Detimtion

(DY Both (A) and (B)

19. Which of these muns on Compute are

and provides a platfor .an other

software ?

(A) Operauing svstem
(B) Application software
(C) Both (A)and (B)

(D) Nonc of these

20. Designed and launched by National

Payments Corporation of India :
(A) Rupay

(B) Master

(C) Visa

(D) Mestro

Set-D  (May - 2023)

18, == w fepga w9 R

\Ux:;/f:;f:nw s oy

() =i =itz 2feame

(D) (A) 30T (13) 21

19. 3TH A FAH FO4 Z2ag7 g7 79 Il

% 3 g BIwEm #1 @ =73 # fom
CIEEH TS Fa1 g ?

(B) Uy AiFzaat

(C) (A) 3R (B)THI

(D) 399 | &2 ol

20. YA & =G YTaE [T g1 3931 3T

MLlpu}'
(B) Master
(C) Visa

(D) Nlestro
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28. I you add recipient cmanl address in
........... box of an emuail message, copy of
the message is sent o that recipient, and
recipient name is not visible 1o other

recipients of the messagee,

(A) To
(B)Y Cec
(C) Becee

(D) Subject

29, DNS c<ervice musttranslate ............into the

corresponding ............. :

(A) IP address, Domain name
(B) Domain name, IP address
(C) Chent, Server

(D) Folder, File

3(. You can charge your phone, tablet or other
device wirelessly by putting the device on
charging pad, without having physically
pluggedin:

(A) Megacharging
(B) Inductive charging
(C) Betacharging

(D) Giga charging

Set-D (May - 2023)
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-'h AlTeTF,

ufe 397
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(A) To
“3} CC 7
(C) Bce -

o (D) Subject

drSl &Y ahd ¢
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33. What is the shortcut key for starting g (u) MS Pow "
o & oY, v 'Cl’l'mn[n‘,}'[);f:l ;I .
i A5 AR 7 9 o
slide show from the beginning in MS o )
: £ DU BT VIHZ 550 am 5
PowerPoint ? ..\( /
rf ) I*S
(A) FS =
(lH) I'6
(BY TF6 J{(\
. | Y F7
(C) F7 (©)
(D) FS§ (D) F8

34. Whatisthe shortcut key for pasting copicd 34, THUH UHd ° HI9l fHT T Fa 71 33

cell(s) orrange in MS-Excel ? ﬂﬁﬁﬁ?ﬁﬁﬁﬂ% /
(A) Cul+C (A)-_C[rl+q_cj.p;.-

B) Cul+X B) CuleX ¢t/

(C) Cul+V (C) LCirl+V o

(D) Cul+A (D)f_‘_'_'_l_j;‘i__ ” x“f_;.r

35. Whatis the shortcut key foropening a new 35. g1 A 4l CIARCIRE K ARIICE T ﬁ

document or window ? e ?

(A) Cul+0O (A) Cul+0O
(B) Cul+5 (B) Cul+S
(C) Cul+N | \(C)/‘ Cul+N e
(D) Cul+P (D) Cul+P

Set-D (May - 2023) (15) T=-51 Contd.



31, Whatis Big Dy 2

[.*"n) ]I 1S used o cnh;nh‘c overall
dppearance of the document in
MS-Waord 2010,

(B) Ttis data sets that are so voluminous
and complex that traditional data
processing application software are
inadequate to deal with them.

(©) Auulity to copy formatting from one

arca in the worksheet and apply itto

another area.

(D) Ttis a directory that is moved into

source directory.

32. Which of the following services can be

availed through the e-Mitra portal 2
(A) Bill payment

(B) Application for certificates
(C) Filing nfgrievum:usi

(D) Allof these

Set-D (May - 2023)

(14)

(Jl.)ﬁm BT E 2
(A)_TIFHT 3UAM THUA A2 2010 3
\
ATl G ST A e

fopomr e &

(B) % 321 112 2 50 304 faome 5 5z
L

e L - "_n'_' & .
o f$ QIYITTd 2727 WS Uirai 715

Alezaar 399 fAu=3 = 57 aosi=

4

(C) I&vile § TF 57 9 a0 =
H ] F0 & fou ot 3

(D) T&TH 3= B 93 39 Trs=5
T Tl i s )

32. é—ﬁarﬂéaﬁmmﬁﬁw%f@aﬁﬁ
ﬁm’iﬂm&ﬂmwwmmm%?
(A) faet ypram
(B) WHIUI-U3 & f&u srdeq
(C) foerad g st

Mmﬁ
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26. Statement 1: Watermark optionis used to
insert ehosted text behind the content of
the page in MS-Word.

Statement 2 : Indent option is used o

change the spacing

in MS-Word.

hetween the paragraphs

Choose the appropriate option from the

following :

(A) Statement I is correct and Statement

2isincorrect.

(B) Statement | is incorrect and Statement
2 1s correct.
(C) Both Statement 1 and Statement 2 are
Incorrect.
(D) Both Statement 1 and Statement 2 are
correct.
27. Suppose obtained marks of each pupcf are

in B2to B7 cells. Maximum Marks are 100
for each paper. What is the correct formula

to calculate percentage in MS-Excel 2010 ?

(A) =SUM(B2 : B7)/600*100

(B) =600*100/SUM(B2 : B7)
(©) = OBTAIN(B2 : B7)/600* 100
(D) All of these

Set=D (May - 2023) (12)

.= - T3 L £

1 IYAnT 7S Bl A

o G2 DIF
e |

e 2 UHUH-TE H TITZ AWHE 3
T SO ATd AGhe g6t 3
feru faan <iran |
ﬁﬁ%ﬁgﬁﬁﬁm CEAG ;P'{Q :

(A) IFA | Fal § AR 9994 2 Tciq 3

(B) d&deA | TTeld & 38 9999 2 [E ¢

(C) THI 9adq | 2K I999 2 7iq &

(D) THI SKT=A | N Fads7 2 T77 &

A I % Tl T 3 g st g2
@rmmﬁ%iuﬁsﬁﬁw%ﬁmaﬁm
HE 100 B1d §) TTE-TF7e 2010 *
wfrer 3@ G
§: ML h %Q?%T?Fw

_ .

‘A = SUM(R2 - B7)/600* 100
(B)

= 600* IUU}‘SUT\'I(BE : B7)
(C) = OBTAIN

S (B2: B7y600+100
(D) 3Jgsfy '

T-51 cont¢
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24. Which of the following alignment opLion @] LR e T i = Pfire @ -

in MS-Word 2010 aligns cach line of the 33 TZ faaey =AM =i ALl qIFsq &
paragraph between left and right margins Gl ST 507 =1 el Ui 1 2729 Fdl
and produces straight edges on both left and & aY1 =M i <0 6 o i e
right edges ? F1 I FIA1 T ?

(A) Center (A) T

(B) Justifv (B) SI=®wE .

(C) Left (C) TR

(D) Right (D) =2

S. Google Drive, Microsoft One Drive and @T‘rﬁ gT3d, HIgHIEITE 99 SIEC I edicaty
Drop Box are the examples of : - qld ............. % 3B T |
(A) Operating System (A) 3iiqifen fawey
(B) Search Engine ~B) qd g9
(C) Newwork Topology (C) w 2IqIeTsit
(D) Cloud Storage Services (D) F18E WS giaas
>et-D  (May - 2023) (11) T-51
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51. What is the process of turning on the
computer ?
(A) Starting
(B) Turmingon
(C) Hibemaung

(D) Booung

22. Which of the following 1s an example of a
web browser ?
(A) Google Chrome
(B) Safan
(C) Mouilla Firefox

(D) All of these

23. Which of the following can be considered
as e-Governance services
(A) Dnving License
(B) Driving a Car
(C) Buying Vegetables

(D) Printing T-Shin

Set-D (May - 2023)

(10)

1, A A T Bl WA AR
37

(qyy 2

() Az AT
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22, frefatad QP FAE ad Alogl 5l 3%t

23, frafafed 3 Q s d-malg gaaii 7
®9 A WAL A W ¥ )
‘A gEfE ey
(B) &R gfay
(€)  Wisrif e
(D) -3 i

S
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15. The full form of ‘TR s
(A) Unintermupted Resource Location

(B) Unitorm Resource 1 .ocation

(C)Y Umicd Resource Locaton 2

(DY Unitorm Resouree Locate:

o

e gy =
T ALl it

(6. @1 fazr, s & e i

16. Which prnter prints data or images by

- 5 @ . '.: = - . - -~ —:'I- ‘:_ = — —: III—-w
spraving small droplets of ink at high speed fag 231 %1 FAoAa 4l A I2ems 220 4

onto the surface of the paper ? el =) T92 Feal & 7

(A) Inkjetpnnter \ L 27
(B) LaserPnnter (B) TialY PEL

(C) Dot matrix printer (C) Bfg-Hiz=H XS

(D) Drum pninter (D) T iwex
17. Which kevs combination is used to insert 17. gfeRuree SESITS i gieihe =33 =5 ad
duplicate shde 1n @ PowerPoint w3 @ forg fas E_;c‘lnl [EEE F1 STA
presentztion ”? e ST T
(A) Cul+X (A) Cul+ X
(B) Cul+N (B) Cul+ N
(C) Cul+M (C)  Cul+ M
(D) Curl+D b7 Cul + 1
Set-D (May - 2023) (8)
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10. Sclect the conecl matching opuon from the 10, =1 21 113 A 71 3171 e faaea =

REEC I RITGLTAE

table given below:

(1) Input (M Trackball, Nicrophone, (1) Input . (1) Trackball, Microphone,

Devices Kevhoard Deviees Foeyhe yard

(2) Output — (Q)Hand Disk Dnive (2) Output (O) Hard Disk Dnive

Dewvices Devices

\

(3) Storage  (R) Monitor, Printer, (3) Storay (i) Monitor, Printer,

eVices Headphone Devices Headphone

(A) 1-P.2-Q.3-R (A) 1-P,2-Q,3-R

[B) 1-Q.2-R.3-P (B) 1-Q.2-R,3-P

(C) 1-P.2-R.3-Q \.«:m’, 2-R.3-Q

(D) 1-Q.2-P,3-R

11. Which connectivity required for the 711 gieeate 2eAe TAaael & faq s

HotSpot intermet connectivity ? TR T ST S 2
(A) Wi-k (A) qE-HTE

(B) Induction (B) w

(C) Infrared ©) E

(D) Allof these | D) 2 it

Set-D (May - 2023) (6) T-51 Contd



7. Which service can be used through S50 7. T O

VT % Al o o &

B r—
Bl ST fF;::” SR ?. 7

Portal Resident’s Login ?

(A) E-Mitra Services through Web Portal (A) =73 Yia1 3 o 713 foz A
(B) Rajasthan Sampark (B) T T
(C) e-Public Distnbution System (C)  B-snedstfr famqrm
(DY  Allof these \ (D) A
Which is an example of E-Commerce 8, T-h(AH dFAAREZ F F=59 Z Z 7
Website !
ebsit (A) ﬁ_ﬁ
(A) Twatter )
(B) ™Hq=S
(B) Facebook
| (C) 3THSHA
(C) Amazon \ -
“
‘ﬂ\
(D) All of these y \py 2 =
o™
9. Following is the con’ .oups in Micrnsm'tPuwchninl2010‘5‘71&:’{”?”E-a
Animation Tab of M At PowerPoint H ﬁ—q—:.mq;!gﬁ—;:[ﬁrﬁaﬁg :
2010 : )
(A) q‘ﬂia{-iﬁﬂ
(A) Preview
T BRUELEE
(B) Animaton
: () HHY
(C) Timing (€)
Dy 3w
(D) Allof these \')

Set-D (May-2023) (5) T-51 Contd.




4. How many Pins arc there in VGA Cable

:.ﬂ

(A) 11
(B) 12
(©) 17

(D) None of these

Which of the following is the tvpe of

Intemet Connections ?
(A) Dial Up

(B) DSL

(C) WiFi

(D) Allof these

6. Which are the major e-Governance

Initiatives in Rajasthan 7
(A) RajMegh

(B) Ruj Net

(C) Raj Sewa Dwaar

(D) Allof these

Set-D  (May -2023)

(A) Tl
(B) 12
(C) 17

F

“(f,fmf =i q F I3 e

5. t=fai=a 9 9 7991 32092 9909 0

THR & 7

(A) EHA HY
(B) ETTHTA
(C) dEER

b g gyl

6. TSR H UHE 3-Ta¥S qet ey § 2

NA) TS e
(B) TS H2

(C) TS 941 gy

(D) 41\
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1. Which of the following is the latest version Gj Frafafaa 3§ s ot o
of the Microsoft Windows operating o f=y =1 9=y TErm & 9
: 9
system ° 1.,()- e
(A) Windows 7
(B) Windows 8 (B) fasir 8
(C) Windows 10 (C) T 10
(C) Windows XP (:P) fagsra G210
2. Which of the following is a web browser Fafafad 3 ] =91 T g fa=iaq
developed by Google ? Th 99 AR § 2
(A) Safar (A) FHRI
(B) Firefox (B) AR
(C) Intemet Explorer M{ﬁa qqﬂuqr?r{'{ ‘
(D) Chrome (D)
3. Following are the types of LCD Panel : 3. T e & yaR fefafaa ©
(A) Flat Panel and Laser (A) Te e 3R oo
(B) Normal and Roof Mounted \ﬂ{:ﬂ‘ﬁﬂ M EF HIEICE o
(C) Mesh Model and Curved (C) WY HIEH 3N gHAEER
(D) Nonc of these (D) 399 Q I3 75

Set-D  (May - 2023) (3) T-51  Contd



12. Following arc the clements of a chart in

MS-Excel 2010

(A) Chart Title, Legend, Data Labels
Data Points, Data Series, Grdlines

(B)

(C)  Value Axis, Category Axis

(D) Allof these

Which of the following devices is used to

connect a computer to the internel through

a phonc line ?
(A) Modem
(B) Roulter
(C) Switch

(D) Firewall

14. Which of the following is an Open Source

Set-D

(free to all) Mobile OS ?

(A) Windows Phone 0S

(B) Apple iOS

(C) Both (A)and (B)

(D) None of these

(May - 2023)

(7)

12.

14.

MS-Excel 2010 8 wH =2 & T
fA=fafaa ®

(A) =17 sitd®, #irsz, €21 9Ad

(B) 2e1ulzed, 221 3, fugens—
(C) Ay vfaq w2 ufFrd

(bDy” 3 il

Claﬁ";'f‘ﬁﬁﬂﬂﬁﬁmmnﬂmwﬁﬂ

FHZL 1 [ T3 & qAs g 32 9
g4 & fag fFa = t?

(A) HeH

ﬁqmﬁﬁﬁmﬁﬁmﬁlﬁ(wﬁ
3 forg fi:qc) HiaEel 3TH ¢ 7

(A) faee ® ST

(B) T 3TE3HITH

(&)—(A) 3 (B) A
(D) TH A IS A
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